

行政院國家科學委員會專題研究計畫 期中進度報告

質環上具斜導算之恆等式(2/3)

計畫類別：個別型計畫

計畫編號：NSC93-2115-M-002-006-

執行期間：93 年 08 月 01 日至 94 年 07 月 31 日

執行單位：國立臺灣大學數學系暨研究所

計畫主持人：李秋坤

報告類型：精簡報告

報告附件：出席國際會議研究心得報告及發表論文

處理方式：本計畫可公開查詢

中 華 民 國 94 年 5 月 9 日

GENERALIZED SKEW DERIVATIONS CHARACTERIZED BY ACTING ON ZERO PRODUCTS

Tsiu-Kwen Lee

Department of Mathematics, National Taiwan University

Taipei 106, Taiwan

E-mail: tklee@math.ntu.edu.tw

Abstract. Let A be a prime ring such that its symmetric Martindale quotient ring contains a nontrivial idempotent. Then generalized skew derivations of A are characterized by acting on zero products. Precisely, if $g, \delta: A \rightarrow A$ are additive maps such that $\sigma(x)g(y) + \delta(x)y = 0$ for all $x, y \in A$ with $xy = 0$ where σ is an automorphism of A , then both g and δ are characterized as specific generalized σ -derivations on a nonzero ideal of A .

1. Results

Let B be a ring with a subring A . An additive map $\delta: A \rightarrow B$ is called a derivation if $\delta(xy) = \delta(x)y + x\delta(y)$ for all $x, y \in A$. In a recent paper Jing, Lu and Li proved the following result [6, Theorem 6]:

Let $\mathcal{B}$ be a standard operator algebra in a Banach space X containing the identity operator I , and $\delta: \mathcal{B} \rightarrow \mathcal{B}$ be a linear map such that $\delta(AB) = \delta(A)B + A\delta(B)$ for any pair $A, B \in \mathcal{B}$ with $AB = 0$. Then $\delta(AB) = \delta(A)B + A\delta(B) - A\delta(I)B$ for all $A, B \in \mathcal{B}$. Moreover, if in addition $\delta(I) = 0$, then δ is a derivation.

The result says that an additive map on a standard operator algebra is almost a derivation if it satisfies the expansion formula of derivations on pair elements with zero product. Since standard operator algebras involve many idempotents, from this point of view Chebotar, Ke and P.-H. Lee studied maps acting on zero products in the context of prime rings [2]. To give its precise statement we first fix some notation.

Throughout, unless specially stated, A always denotes a prime ring with center Z , extended centroid C and symmetric Martindale quotient ring Q . Moreover, let

† 2000 *Mathematics Subject Classification.* 16W25, 16W55, 16N60, 47B47.

‡ *Key words and phrases.* Prime ring, (generalized) skew derivation, zero products, Lie ideal, functional identity.

Appeared in Pacific J. Math. **216**(2) (2004), 293-301.

Q_{mr} and Q_{ml} be the maximal right and left quotient rings of A , respectively. See [1] for details. Chebotar, Ke and P.-H. Lee then proved the following ([2, Theorem 2]):

Let $\delta: A \rightarrow A$ be an additive map such that $\delta(x)y + x\delta(y) = 0$ for $x, y \in A$ with $xy = 0$. Suppose that Q contains a nontrivial idempotent e such that $eA \cup Ae \subseteq A$.

(I) If $1 \in A$, then $\delta(xy) = \delta(x)y + x\delta(y) - \lambda xy$ for all $x, y \in A$, where $\lambda = \delta(1) \in Z$. In particular, if $\delta(1) = 0$, then δ is a derivation of A .

(II) If $\deg(A) \geq 3$, then there exists $\lambda \in C$ such that $\delta(xy) = \delta(x)y + x\delta(y) - \lambda xy$ for all $x, y \in A$.

Two natural generalizations of derivations are generalized derivations and σ -derivations (or skew derivations). Let σ be an automorphism of A . An additive map $\delta: A \rightarrow Q_{ml}$ is called a σ -derivation if $\delta(xy) = \sigma(x)\delta(y) + \delta(x)y$ for all $x, y \in A$. Basic examples are derivations and $\sigma - 1$. Given $b \in A$, the map $\delta: x \in A \mapsto \sigma(x)b - bx$ obviously defines a σ -derivation, called the inner σ -derivation defined by b .

An additive mapping $g: A \rightarrow Q_{ml}$ is called a *generalized derivation* if there exists a derivation $d: A \rightarrow Q_{ml}$ such that $g(xy) = xg(y) + d(x)y$ for all $x, y \in A$. Basic examples are derivations, generalized inner derivations (i.e., maps of type $x \mapsto ax + xb$ for some $a, b \in A$) and left A -module mappings from A into itself. From this version, the δ in the theorem above is indeed a generalized derivation. In this paper we will generalize the theorem above from a different point of view. Let us give a definition of generalized skew derivations, which gives a common generalization of both skew derivations and generalized derivations.

An additive map $g: A \rightarrow Q_{ml}$ is called a *generalized σ -derivation*, where σ be an automorphism of A , if there exists an additive map $\delta: A \rightarrow Q_{ml}$ such that $g(xy) = \sigma(x)g(y) + \delta(x)y$ for all $x, y \in A$. It is clear that δ is uniquely determined by g , which is called the associated additive map of g . It is easy to check that δ is always a σ -derivation (see [10]). We are now in a position to state our main result:

Theorem 1.1. *Let A be a prime ring with symmetric Martindale quotient ring Q . Suppose that Q contains a nontrivial idempotent and that $g, \delta: A \rightarrow A$ are additive maps. If $\sigma(x)g(y) + \delta(x)y = 0$ for all $x, y \in A$ with $xy = 0$ where σ is an automorphism of A , then there exist a nonzero ideal N of A and a σ -derivation $d: A \rightarrow Q$ such that*

$$g(x) = d(x) + \sigma(x)b \quad \text{and} \quad \delta(x) = d(x) + ax$$

for all $x \in N$, where $b \in Q_{ml}$ and $a \in Q_{mr}$. In addition, we can take $N = A$ if $eA \cup Ae \subseteq A$ for some nontrivial idempotent $e \in Q$.

The proof of the theorem depends on both the Lie structure of rings and the theory of functional identities and will be given in the next section. As an immediate consequence of Theorem 1.1 we have the following generalization of Chebotar, Ke and P.-H. Lee's theorem [2, Theorem 2]:

Corollary 1.2. *Let A be a prime ring with extended centroid C and symmetric Martindale quotient ring Q . Suppose that Q contains a nontrivial idempotent. If $\delta: A \rightarrow A$ is an additive map such that $x\delta(y) + \delta(x)y = 0$ for $x, y \in A$ with $xy = 0$, then there exists a nonzero ideal N of A such that $\delta(x) = d(x) + \lambda x$ for all $x \in N$, where $\lambda \in C$ and $d: A \rightarrow Q$ is a derivation. In addition, we can take $N = A$ if $eA \cup Ae \subseteq A$ for some nontrivial idempotent $e \in Q$.*

The following corollary gives Jing, Lu and Li's theorem [6, Theorem 6] in the context of prime rings:

Corollary 1.3. *Let A be a prime ring with extended centroid C and $c \in A$. Suppose that A possesses a nontrivial idempotent. If $\delta: A \rightarrow A$ is an additive map such that $x\delta(y) + \delta(x)y + xcy = 0$ for $x, y \in A$ with $xy = 0$, then there exist a derivation $d: A \rightarrow AC$ and $\mu \in C$ such that $\delta(x) = d(x) + (\mu - c)x$ for all $x \in A$.*

Proof. By assumption, we have $x(\delta(y) + cy) + \delta(x)y = 0$ for all $x, y \in A$ with $xy = 0$. In view of Theorem 1.1, there exist a derivation $d: A \rightarrow Q$, $a \in Q_{mr}$ and $\mu \in Q_{ml}$ such that $\delta(x) = d(x) + ax$ and $\delta(x) + cx = d(x) + x\mu$ for all $x \in A$. Choose a dense right ideal ρ and a dense left ideal λ of A such that $a\rho \subseteq A$ and $\lambda\mu \subseteq A$. Let $x \in \rho$, $z \in A$ and $y \in \lambda$. Then $xzy \in \rho A \lambda \subseteq \rho \cap \lambda$. Thus $(a + c)x, y\mu \in A$ and $((a + c)x)zy = xz(y\mu)$. Applying Martindale's Lemma [11], y and $y\mu$ are C -dependent for $y \in \lambda$. It is now easy to prove that $\mu \in C$. Thus $a = \mu - c$ follows and so $\delta(x) = d(x) + (\mu - c)x$ for all $x \in A$. In particular, we have $d(A) \subseteq AC$, proving the corollary.

The next application is applied to generalized polynomial identities (GPIs). An additive map $f: A \rightarrow A$ is called an *elementary operator* if there exist finitely many $a_i, b_i \in AC$ such that $f(x) = \sum_i a_i x b_i$ for all $x \in A$.

Corollary 1.4. *Let A be a prime ring with extended centroid C . Suppose that its symmetric Martindale quotient ring Q contains a nontrivial idempotent. If f and g are two elementary operators of A satisfying $xf(y) + g(x)y = 0$ for $x, y \in A$ with $xy = 0$, then there exist $a, b, q \in AC$ and such that $f(y) = [q, y] + yb$ and $g(x) = [q, x] + ax$ for all $x, y \in A$.*

Proof. Since f, g are elementary operators, there exist finitely many $a_i, b_i, c_i, d_i \in AC$

such that $f(x) = \sum_i a_i x b_i$ and $g(x) = \sum_j c_j x d_j$ for all $x \in A$. In view of Theorem 1.1, there exist a nonzero ideal N of A , a derivation $d: A \rightarrow Q$, $a \in Q_{mr}$ and $b \in Q_{ml}$ such that

$$\sum_i a_i y b_i = d(y) + yb \quad \text{and} \quad \sum_j c_j x d_j = d(x) + ax$$

for all $x, y \in N$. Since d can be uniquely extended to a derivation of Q_{ml} into Q_{ml} and $\sum_i a_i y b_i = d(y) + yb$ for all $y \in Q_{ml}$ (see, for instance, [9, Theorem 2]). In particular, we set $y = 1$, implying that $b = \sum_i a_i b_i \in AC$. An analogous argument proves $a \in AC$. Thus $d(AC) \subseteq AC$. Applying Kharchenko's Theorem ([7, Lemma 1] or [8, Theorem 2]), d must be X-inner. That is, there exists $q \in Q$ such that $d(y) = [q, y]$ for all $y \in A$. Thus $qy - yq = \sum_i a_i y b_i - yb$ for all $y \in A$. Applying Martindale's Lemma [11], q lies in the C -linear span of the elements b_i 's, b and 1. Thus $q \in AC + C$. Since, for $\beta \in C$, $[q + \beta, y] = [q, y]$ for all $y \in A$, we may take $q \in AC$, proving the corollary.

The following example shows that the existence of nontrivial idempotents in Q is essential to Theorem 1.1.

Example 1.5. Let A be a prime ring, not a domain, with center Z and let

$$\mathcal{M}_A = \{a \in A \mid xay = 0 \text{ whenever } x, y \in A \text{ with } xy = 0\}.$$

Suppose that $\mathcal{M}_A$ is noncentral. Choose an element $c \in \mathcal{M}_A \setminus Z$. Let $f, g: A \rightarrow A$ be additive maps defined by $f(x) = cxc$ and $g(x) = x$ for all $x \in A$. Then $xf(y) + g(x)y = 0$ for $x, y \in A$ with $xy = 0$. We claim that f, g cannot assume the forms given in Theorem 1.1. Indeed, if there exist a derivation $d: A \rightarrow Q$ and a nonzero ideal N of A such that

$$f(x) = d(x) + xb \quad \text{and} \quad g(x) = d(x) + ax$$

for all $x \in N$, where $a \in Q_{mr}$ and $b \in Q_{ml}$. Then $d(x) = (1 - a)x$ for all $x \in A$, implying $d = 0$. Thus $xb = cxc$ for all $x \in A$. Applying Martindale's Lemma [11], we see that $c \in C$, the extended centroid of A , and so $c \in Z$, a contradiction.

We remark that there exist indeed such prime rings. See, for instance, Dubrovin's example [3]. Another such example is $A = K\{x, y\}/(x^2)$ [5, pp. 105-108], where $K\{x, y\}$ is the free algebra over a field K in two noncommuting indeterminates x and y . In this example, A is a prime ring and $Kx + xAx + (x^2)/(x^2)$ coincides with the set of all elements of A with square zero. Let $\bar{x} = x + (x^2) \in A$. Then $a\bar{x}b = 0$ whenever $a, b \in A$ with $ab = 0$. Thus $\bar{x} \in \mathcal{M}_A$ and is noncentral.

2. Proof of Theorem 1.1

We begin with some preliminary lemmas.

Lemma 2.1. *Let I be a nonzero ideal of A and let $f: I \rightarrow Q_{m\ell}$ be a left I -module map. Then there exists $q \in Q_{m\ell}$ such that $f(x) = xq$ for all $x \in I$.*

Proof. Notice that $Q_{m\ell}I$ is a dense left ideal of $Q_{m\ell}$. We define the map $\tilde{f}: Q_{m\ell}I \rightarrow Q_{m\ell}$ by $\sum_i x_i a_i \mapsto \sum_i x_i f(a_i)$, where $x_i \in Q_{m\ell}, a_i \in I$. Then $\tilde{f}$ is well-defined. Indeed, let $\sum_i x_i a_i = 0$, where $x_i \in Q_{m\ell}, a_i \in I$. Choose a dense left ideal J of A such that $Jx_i \subseteq I$ for each i . Then, for $y \in J$, we have

$$0 = f(y \sum_i x_i a_i) = f(\sum_i (yx_i) a_i) = \sum_i yx_i f(a_i) = y(\sum_i x_i f(a_i)),$$

implying $\sum_i x_i f(a_i) = 0$. Thus $\tilde{f}$ is well-defined. It is clear that $\tilde{f}$ is a left $Q_{m\ell}$ -module map extending f . We remark that the maximal left quotient ring of $Q_{m\ell}$ coincides with itself. Thus there exists a $q \in Q_{m\ell}$ such that $\tilde{f}(z) = zq$ for all $z \in Q_{m\ell}I$. In particular, $f(x) = xq$ for all $x \in I$. This proves the lemma.

Lemma 2.2. *Let I be a nonzero ideal of A and let $f, g: I \rightarrow Q_{m\ell}$ be two additive maps. Suppose that $f(x)y + \sigma(x)g(y) = 0$ for all $x, y \in I$, where σ is an automorphism of A . Then there exists $a \in Q_{m\ell}$ such that $f(x) = \sigma(x)a$ and $g(y) = -ay$ for all $x, y \in I$.*

Proof. Let $x, y, z \in I$. By assumption, we have

$$f(zx)y + \sigma(zx)g(y) = 0 \quad \text{and} \quad \sigma(z)(f(x)y + \sigma(x)g(y)) = 0.$$

Thus $(f(zx) - \sigma(z)f(x))y = 0$ and so $f(zx) = \sigma(z)f(x)$ by the primeness of A . Note that σ can be uniquely extended to an automorphism of $Q_{m\ell}$. Consider the map $\phi: I \rightarrow Q_{m\ell}$ defined by $\phi(x) = \sigma^{-1}(f(x))$ for $x \in I$. Then ϕ is a left I -module map. By Lemma 2.1, there exists $b \in Q_{m\ell}$ such that $\phi(x) = xb$ for all $x \in I$. That is, $f(x) = \sigma(x)a$ for all $x \in I$, where $a = \sigma(b) \in Q_{m\ell}$. It is clear that $g(y) = -ay$ for all $y \in I$. This proves the lemma.

Although the next lemma has a more generalized version, for our purpose we only state the following special form.

Lemma 2.3. *Let $d: M \rightarrow Q$ be a σ -derivation, where M is a nonzero ideal of A and σ is an automorphism of A . Assume that there exists a nonzero ideal J of A such that $d(m)J + Jd(m) \subseteq A$ for all $m \in M$. Then d can be uniquely extended to a σ -derivation from A into Q .*

Proof. Replacing J by $M \cap J$, we may assume from the start that $J \subseteq M$. Let $a \in A$.

Define a map $\psi_a: MJ \rightarrow A$ by the rule

$$\psi_a\left(\sum_i m_i x_i\right) = \sum_i d(am_i)x_i - \sum_i \sigma(a)d(m_i)x_i \in A,$$

where $m_i \in M$ and $x_i \in J$. We claim that ψ_a is well-defined. Indeed, if $\sum_i m_i x_i = 0$, then $\sum_i (am_i)x_i = 0$ and so

$$\begin{aligned} 0 &= \sum_i d((am_i)x_i) = \sum_i (\sigma(am_i)d(x_i) + d(am_i)x_i) \\ &= \sum_i d(am_i)x_i - \sum_i \sigma(a)d(m_i)x_i, \end{aligned}$$

since

$$\begin{aligned} \sum_i \sigma(am_i)d(x_i) &= \sum_i \sigma(a)\sigma(m_i)d(x_i) = \sum_i \sigma(a)(d(m_i x_i) - d(m_i)x_i) \\ &= \sigma(a)d\left(\sum_i m_i x_i\right) - \sum_i \sigma(a)d(m_i)x_i = -\sum_i \sigma(a)d(m_i)x_i. \end{aligned}$$

The claim is proved. It is clear that ψ_a is a right A -module map. Thus ψ_a is defined by an element $\tilde{d}(a) \in Q_r$, the right Martindale quotient ring of A . That is, $\tilde{d}: A \rightarrow Q_r$ has the following property: $\tilde{d}(a)m = d(am) - \sigma(a)d(m)$ for $a \in A$ and $m \in M$. Let $a, b \in A$ and $m \in M$. Then $\tilde{d}(ab)m = d(abm) - \sigma(ab)d(m)$. On the other hand, by the fact that $bm \in M$ we have

$$\begin{aligned} (\sigma(a)\tilde{d}(b) + \tilde{d}(a)b)m &= \sigma(a)(d(bm) - \sigma(b)d(m)) + d(abm) - \sigma(a)d(bm) \\ &= d(abm) - \sigma(ab)d(m). \end{aligned}$$

Thus $\tilde{d}(ab) = \sigma(a)\tilde{d}(b) + \tilde{d}(a)b$, proving $\tilde{d}$ to be a σ -derivation. Clearly, $\tilde{d}(m) = d(m)$ for all $m \in M$ and so $\tilde{d}$ is an extension of d . Notice that $J\sigma(M)$ is a nonzero ideal of A . Let $a \in A$ and $m \in M$. Then $d(ma) = \sigma(m)\tilde{d}(a) + d(m)a$ and so

$$J\sigma(M)\tilde{d}(a) \subseteq Jd(M) + Jd(M)A \subseteq A,$$

implying that $\tilde{d}(a) \in Q$. Hence, $\tilde{d}: A \rightarrow Q$ and the lemma is thus proved.

We are now ready to prove the main theorem stated in §1.

Theorem 1.1. *Let A be a prime ring with symmetric Martindale quotient ring Q . Suppose that Q contains a nontrivial idempotent and that $g, \delta: A \rightarrow A$ are additive maps. If $\sigma(x)g(y) + \delta(x)y = 0$ for all $x, y \in A$ with $xy = 0$ where σ is an automorphism of A , then there exist a nonzero ideal N of A and a σ -derivation $d: A \rightarrow Q$ such that*

$$g(x) = d(x) + \sigma(x)b \quad \text{and} \quad \delta(x) = d(x) + ax$$

for all $x \in N$, where $b \in Q_{m\ell}$ and $a \in Q_{mr}$. In addition, we can take $N = A$ if $eA \cup Ae \subseteq A$ for some nontrivial idempotent $e \in Q$.

Proof. Let e be a nontrivial idempotent of Q . Choose a nonzero ideal I of A such that $Ie + eI \subseteq A$. We consider the additive subgroup E of Q generated by the set $\{f \in Q \mid If + fI \subseteq A \text{ and } f^2 = f\}$. Then $e \in E$. We claim that $0 \neq I^2[E, E]I^2 \subseteq E + E^2$.

We follow Herstein's argument [4, Proof of Lemma 1.3]. Let $f \in E$ and $x \in I$. Then $f + fx(1 - f), f + (1 - f)xf \in E$ and so

$$[f, x] = (f + fx(1 - f)) - (f + (1 - f)xf) \in E.$$

Thus $[E, I] \subseteq E$. Indeed, $[E, E]I^2 \subseteq [E, EI^2] + E[E, I^2] \subseteq E + E^2$, and so

$$I^2[E, E]I^2 \subseteq [I^2, [E, E]I^2] + [E, E]I^4 \subseteq [I^2, E + E^2] + E + E^2.$$

Since $[I^2, E + E^2] \subseteq E + E^2$, we see that $I^2[E, E]I^2 \subseteq E + E^2$. Finally, $0 \neq [e, e + eI^2(1 - e)] \subseteq [E, E]$, proving our claim.

Let $x, y \in I$ and $f = f^2 \in E$. Then $xf, (1 - f)y, x(1 - f), fy \in A$. By assumption,

$$(1) \quad \begin{aligned} \delta(xf)(1 - f)y + \sigma(xf)g((1 - f)y) &= 0 \quad \text{and} \\ \delta(x(1 - f))fy + \sigma(x(1 - f))g(fy) &= 0. \end{aligned}$$

Solve the two equations by Lemma 2.2: there exist two unique elements $u, v \in Q_{m\ell}$, depending on f , such that

$$(2) \quad \begin{aligned} \delta(xf)(1 - f) &= \sigma(x)u, \quad \sigma(f)g((1 - f)y) = -uy \quad \text{and} \\ \delta(x(1 - f))f &= \sigma(x)v, \quad \sigma(1 - f)g(fy) = -vy. \end{aligned}$$

Thus, by (2), we see that

$$(3) \quad \delta(x)f - \delta(xf) = \sigma(x)(v - u) \quad \text{and} \quad \sigma(f)g(y) - g(fy) = (v - u)y.$$

By (3), it follows from the definition of E that there exists an additive map $d: E \rightarrow Q_{m\ell}$ such that

$$(4) \quad \delta(x)m - \delta(xm) = -\sigma(x)d(m) \quad \text{and} \quad \sigma(m)g(y) - g(my) = -d(m)y$$

for all $x, y \in I$ and all $m \in E$. Let $m_1, m_2 \in E$; then

$$(5) \quad \delta(x)m_2 - \delta(xm_2) = -\sigma(x)d(m_2) \quad \text{and} \quad \delta(x)m_1 - \delta(xm_1) = -\sigma(x)d(m_1)$$

for all $x \in I$. Let $x \in I^2$; then $xm_1 \in I$. By (5) we have

$$\begin{aligned}\delta(xm_1)m_2 - \delta(xm_1m_2) &= -\sigma(xm_1)d(m_2) \text{ and} \\ -\delta(xm_1)m_2 + \delta(x)m_1m_2 &= -\sigma(x)d(m_1)m_2.\end{aligned}$$

Thus we have

$$(6) \quad \delta(x)m_1m_2 - \delta(x(m_1m_2)) = -\sigma(x)(\sigma(m_1)d(m_2) + d(m_1)m_2).$$

On the other hand, let $y \in I^2$; then $m_2y \in I$. By (4) we have

$$\begin{aligned}\sigma(m_1)g(m_2y) - g(m_1m_2y) &= -d(m_1)m_2y \text{ and} \\ \sigma(m_1)\sigma(m_2)g(y) - \sigma(m_1)g(m_2y) &= -\sigma(m_1)d(m_2)y,\end{aligned}$$

implying that

$$(7) \quad \sigma(m_1m_2)g(y) - g((m_1m_2)y) = -(d(m_1)m_2 + \sigma(m_1)d(m_2))y$$

This means that d can be extended to $E + E^2$ such that

$$\delta(x)m - \delta(xm) = -\sigma(x)d(m) \text{ and } \sigma(m)g(y) - g(my) = -d(m)y$$

for all $x, y \in I^2$ and all $m \in E + E^2$. Moreover, $d(m_1m_2) = \sigma(m_1)d(m_2) + d(m_1)m_2$ for all $m_1, m_2 \in E$. Repeating the same argument above, we can extend d to $E + E^2 + E^3 + E^4$ such that

$$(8) \quad \delta(x)m - \delta(xm) = -\sigma(x)d(m) \text{ and } \sigma(m)g(y) - g(my) = -d(m)y$$

for all $x \in I^4$ and all $m \in E + E^2 + E^3 + E^4$. Moreover,

$$(9) \quad d(uv) = \sigma(u)d(v) + d(u)v$$

for all $u, v \in E + E^2$. Let $M = I^2[E, E]I^2 \neq 0$. Then M is a nonzero ideal of A contained in $E + E^2$.

Let $m \in M$. By (8) we see that $\sigma(I^4)d(m) \subseteq A$ and $d(m)I^4 \subseteq A$. Thus $d(m) \in Q$ follows. Thus $d: M \rightarrow Q$ is a σ -derivation satisfying

$$(10) \quad \delta(x)m - \delta(xm) = -\sigma(x)d(m) \text{ and } \sigma(m)g(y) - g(my) = -d(m)y$$

for all $x, y \in I^4$ and all $m \in M$. Set $J = \sigma(I^4) \cap I^4$. Then J is a nonzero ideal of A and, moreover, $d(m)J + Jd(m) \subseteq A$ for all $m \in M$. In view of Lemma 2.3, d can be uniquely extended to a σ -derivation from A into Q . Thus we can rewrite (10) as

$$(11) \quad \delta(xm) - d(xm) = (\delta(x) - d(x))m \text{ and } \sigma(m)(g(y) - d(y)) = g(my) - d(my)$$

for all $x, y \in I^4$ and all $m \in M$. Consider the map $\phi: I^4 \rightarrow Q$ defined by

$$x \in I^4 \mapsto \phi(x) = \delta(x) - d(x).$$

By (11), ϕ is a right M -module map. Thus it is a right A -module map by the primeness of A . So, by Lemma 2.1, there exists $a \in Q_{mr}$ such that $\phi(x) = ax$ and so $\delta(x) = d(x) + ax$ for all $x \in I^4$. By an analogous argument, there exists $b \in Q_{ml}$, such that $g(x) = d(x) + \sigma(x)b$ for all $x \in I^4$. We are now done by setting $N = I^4$.

Suppose, in addition, that $eA \cup Ae \subseteq A$ for some nontrivial idempotent $e \in Q$. Then $I = A$ in our construction. Moreover, we have $EA + AE \subseteq A$. Therefore, (11) remains true for all $x \in A$. So the map $\phi: I^4 \rightarrow Q$ can be replaced by $\phi: A \rightarrow Q$. Now our conclusion trivially holds. This proves the theorem.

Acknowledgments. The author would like to thank the referee for her/his useful comments. The research was supported in part by a grant from NSC of R.O.C. (Taiwan).

References

- [1] K.I. Beidar, W.S. Martindale 3rd and A.V. Mikhalev, “Rings with Generalized Identities”, Monographs and Textbooks in Pure and Applied Mathematics, 196. Marcel Dekker, Inc., New York, 1996.
- [2] M.A. Chebotar, W.-F. Ke and P.-H. Lee, *Maps characterized by action on zero products*, Pacific J. Math., to appear.
- [3] N.I. Dubrovin, *An example of a chain primitive ring with nilpotent elements*. (Russian) Mat. Sb. (N.S.) 120(162) (1983), no. 3, 441–447.
- [4] I.N. Herstein, “Topics in Ring Theory”, University of Chicago Press, Chicago, 1969.
- [5] I.N. Herstein, “Rings with Involution”, Univ. of Chicago Press, Chicago, 1976.
- [6] W. Jing, S. Lu and P. Li, *Characterizations of derivations on some operator algebras*, Bull. Austral. Math. Soc. **66** (2002), 227–232.
- [7] V.K. Kharchenko, *Differential identities of prime rings*, Algebra i Logika **17** (1978), 220–238 (Engl. Transl., Algebra and Logic **17** (1978), 154–168).
- [8] V.K. Kharchenko, *Differential identities of semiprime rings*, Algebra i Logika **18** (1979), 86–119 (Engl. Transl., Algebra and Logic **18** (1979), 58–80).
- [9] T.-K. Lee, *Semiprime rings with differential identities*, Bull. Inst. Math. Acad. Sinica **20** (1992), 27–38.

- [10] T.-K. Lee and K.-S. Liu, Generalized skew derivations with algebraic values of bounded degree, preprint.
- [11] W.S. Martindale 3rd, *Prime rings satisfying a generalized polynomial identity*, J. Algebra **12** (1969), 576–584.